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HA—1 : W =R wer AN / PART-I : General Hindi and English

/szﬁrm%?

o(r) =T > »- ¢2)) ﬁﬁﬁ
(C) gy D)
2 B IH A A8 B 7
(A) =1 B) ¥
) =1 o =
3 wgaq e R oweRm e 7
A) T B) T+
© T+ e (D) I
4 BHE BN F Somer T8 B Q
@ o(A) RIS @) ufRernt 2=
(©) uat ==h (D) oI
s e = © ? -
- (A) 3sEfEIHR. B) sfacsar
©) I=<rea= _ o) Jugad
6 ‘Bl b1 AW AR wadl=a AP Aigd {8 Tam H oy Adme & ?
(A) T+ B) =R
& () df= e (D) & @
7 P BT e A8 B—
@ (A sra=t (B) «aw @
HC) = (D) <\
HHS BT gAIarEn & 7
6 (A) 3R . B) R=Eax @
« (©) RS D) T
9 e &1 fem & ?
(A) A 4 M) en
(©) = D) daH
10 SN P AT IgeY WHR 8— .
(A) 3o ®B) A
o(C) <harsr (D) 3SR
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11 ‘Gl "y "Ear 8 @ g e 87

(A) HHy B) HI&T
»(C) HHer ») =51
12 '§ o &
(A) ™ B) T
(C) #HBWIOT (D) 3y
13  'gaa' Tl B
(A) <999 B) daEH
() fa<=h (D) <
14 SO UR_ATH A BET .
@ (A) Wearsl 8=l =(B) IFAEES $U W wWreard] 8 (7
(C) 9aAG HSR dadq HEAT (D) wd= g aiffFar g
1S SRvg—"fegaT
@ (A) ST @1 g B) SHTA H #HITA
©) FuHoE g ) Feds §99- IR
16 59 gy g7 fag 7 g @ ad’ owa fog w8 s 8-
e W g (B) IJIFIHT
(C) 3wag ®) 3uHIP

17 g @ A7 o s 8-

(A) ufaa @) dfea
o (C) =RTINAY (D) urEEt |
18 'SeO¢’ @1 ygigardl v B—
(A) faaeh (B) W
H(C) FAHSY D) DHST
19 & W/ s IO F yulmard Fd 2 é
@ A) fa=rgeE (B) UHE
«(C) &= D) TEER
20 dgHg I B 7
{A) TIFc ' (B) HKi
(C) i D) g
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28
29

T
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(A Yot
€«

P AT Tea WA T gataaran a8 28—

(A) FIRIvS
(C) g7

gga o1 S fa=sa BrTT—
(A 9T + 31
(C) 9 + a9

®)
@)

3)
@)

-(B)
(D)

B AT TTEE HEHIRA THHTE A8 B—

(A) e
(C) Farga

P [y erex g T gatIarEy A8l a—

Ay =&
. (C) 378

gffgy § Suowf 82—
(A) W
< =

g=gHT ST gIigarEn A8 8 7
(A) ¥Ha<F
©) gEYy
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(A) g
©) WA W
32 9 &1 agHa o= aﬁTs"a = £Fs 4 B
(A) PH - (B) HwT4-
(C) fosar D) @
33 @©F W IeE BEel B gataars) TSt 8-
(A) B ®) segw (%)
L(© =R @ () uwn
34 uS® W U B—
-(A) 3F PR L B) Sid
(C) =i . ®) ¥
35 gfic 9 B W REE TS B 2
(A) e ®. e (@)
©) HH1ET D) 3T

36 3l T ToEH B

(A) i ®B) Ha
(C) 3Hdg - (D) Iy
37 ©H H TP AR e B9 |

38 G WM WR T8 B VY H B8 Wiy
(A) WoId : -(B) ulRvra /
() affofy (D) uRvha

39 Y0 BT sifew
(A) Ja7 e @) AT @
J(C) TEPHIar O) T

40 aRg g B DS BIT BRS doAilier F A @ W vE w

\
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Direction to solve — (Question 41 to 45)

Choose the word which is the exacit opposite of the given words-

41

42

43

44

4S5

Direction to solve (Question 46 to 50)

Enormous

(A) Soft

(C) Tiny
ARTIFICIAIL.

(A) Red

(C) Truthful @
BUSY

{A) Occupied.
(C) Relaxed @
COMMON

(A) Rare

) Petty @
1LOVE

(A) Villainy 5
(C) Compulsion

ind the correctly spelt words-

46

47

48

49

S%

S52

(A
«©)

A)
)

A
O

A
)

A
«©)

That which cannot be seen-

A
(O

A
(&)

Efficient @ @

Beterment
Foreign , CZ)
Fariegn 4@

Acommadatio
Accommodatio

Simpal '

Pattren @
Entrepreneur
Entrepraneur @

Insensible

D

Invisible - @

A paper written by hand-

Handicraft
Handiwork

EJE-2015_A ]

Q@/

3B)
a»)
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B)
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@)
)

B)
@)

@)
D)

B)
>

B)
>

B>
@)

B>
@)

B)
D)

Average
Weak

Natural_
Solid

Engrossed
Engaged

Small
Poor

Hatred
Force

Treatmeant g}

Employd

Forecine
Forein

Accomodation &
Acomodation

Bannar
Modern

Entrapreneur
Enterprencur

Intangible
unseen

Manuscrip
Thesis

-
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Direction to solve (Question 53 to 57)
Pick out the best one which can complete the incomplete sentence correctly and
meaningfully-
53 I felt somewhat more relaxed

(A) but tense as compared to earlier

(B) and tense as compared to earlier

«(C) as there was already no tension at all
(D) and tension free as compared to earlier

S4 He has no money now ‘
(A) although he was very poor once @
»(B) as he has given up all his wealth* ¥
(C) because he was very rich once
(D) because he has received huge donation

55 He tames animals because he @
e (A) is fond of them (B) hates them \
{C) is afraid of them (D) wants to set them free
56 The officer who had neglected to file his income tax return had to
{A) retuuns the files « (B) pay a fine
(C) be rewarded (D) play mischief ( ‘57

57 The weather cutside was -extremely pleasant and hence we decided to
(A) utilise our time in watching the television
- (B) refrain from going out for a morning walk
e (C) Enjoy a morning ride in the open
(D) remain seated in our rooms in the bungalow ~ )‘L&
Directions to solve (Question 58 to 63) \}"N} < -)(‘\eA )‘)QA-
Find the correctly spelt word. \-Q.N"Jf
S8 Solve as per direction given above- i LS Ay 2
(A) Benifitted (B) Benifited {C) Benefited (D) Benefeted
s9 Solve as per direction given above-
(A) Bouquete (B) Bouguette &¢C) Bouquet (D) Bogqquet

60 Solve as.per direction given above—

A (A) Humorous (B) Ganerous (C) Pupolous (D) Maretorious
61 Solve as per direction given above—
(A) Faithfuly %B) ‘Sincerely OJ(C) Truely (D) Affectionatly

62 Solve as per direction given above— '
(A) Gaurantee (B) Guarantee - (C) Garuntee (D) Guaruntee

63 if someone hves in a state of art home, it means its: /‘)
(A) Cheaper —
(B) Moderately comfortable |6 W

(C) Old fashioned
(D) Modern and technologically advance

EJE-2015_A ] 7 [ PT.O.

www.diplomagovtjobs.in



N

64

65

66

67

- (C) Skillfull

Skill + ful

QLA Skillful c e

(B) Skilful e

(D) Skilfull

Marry + age
(A) Marryage

(B) Marrige @
*(C) Marriage
(D) Mariage

Give the future perfect continuous form of “I love” X
(A) T have been loving ﬁ
(B) 1 had been loving @ o

« {(C) 1 shall have been loving ‘ D“
(D) I shall be loving 4

Give the past perfect continuous form of “I speak” in second person.
.(A) I has been speaking
B) You were speaking

(C) You had spoken @ '/L.
e (D) You had been speaking

68 urd et (R¥@) &7 uSN BT
(A) Receive
AB) Recieve o \J &

(C) Receeve (\)\&-’c}a
(D) Recove u

69 HIHT HT JUSN BT 5\'—‘&'
(A) Personal b
(B) Personnel @ w
(C) Perusal .
(D) Official

70 Exonerate ‘-em fa=ft <war=<r<
(A) IR g=F Tl ’QB
(B) IR gfee &eAr
(C) IRWU g AT
D) 3T HFT BT

EJE-ZOIS_A 1 8 { PT.O.
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Directions to solve (Question 71 to 75)

Join these parts to make a meaningful sentence The correct order of parts is the

answer-

71 1 I
3 Salary
5 Want
(A) 43152
{(C) 25143

72 1 Bag?

3 Seen

S My

(A) 51432

(C) 43512~
73 1 Medicine

3 Neeta

5 Was

(A) 51423

(C) 42531
74 1 Killed

3 Jaswant

5 Wild

ALA) 31254
(C) 23145

75 1 Not
3 Comfortable

S5 The A
@
S

hy

(A) 34521
¢ (© 524134

EJE-2015_A ]
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A(B)
D)

(8)

H

®)

)

N

D)

()

B)
D)

Immediately
My @

15432 #
42351

You @

Have «

42351
42153

Given @

53412
34152
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"ART—I1 : A gftmrwmmmmm

76 r=afaRaa & 3 9 91 dra ity 9 9§ 2 7
(A T I9grEA : @) I SgieHd
©) T T"GIeH »D) fao=a Iaea

77  gaau @ueE oo @ ke & 7
(A) R Sy rgaen glRes (B) I50 SR$GR
(©) = arFa wd g 3maEET M) T J PE TGS

78 Wuﬁw‘mugwaﬁwﬁa%?

(A) =HR 3B) faz=T
©) <=r D) e
79 THH ¥ i g wens 95 & 2
(A 31F M 3 A and @ 3 = §oT and
(©) & A & a3 @) 3IE e | a3
80 UTPH ®Ud B Al WX FEd =0 8 & 2
A RS §F & 19 ®!) faa afsg
(©) fa=a == ®) IR
81 R &1 wisol fba SHaY oY esT onar 2 7
A) =T B) T
©) s @) =Brh
82 BAR WHe Yl B g Sl &1 gy wE w=w o8 ?
A @ ®) =TT
(C) afig ' D) HESTEFR

83 2015 H ARG AT JAT A €97 B WS A ARG—IWRBT F  sifalas
fFa o QW B AR wIET T AeER IS fhar ¥ ?

(A) == B) =43
©€) fae= O) SHFH

84 ww@ammméﬁﬁmﬁﬁmmmé?
(A) fppe B) Bia
) WS D) e

85 THE H PoRIT o9 B fhan @S amafea f ?
(A) 26 3B) 25
) 20 (D) 21

EJE-2015_A ] 10 [ P.T.O.
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PART-II : General Intelligence Test & General Awareness, General Computer knowledge

76 Which of the following is related to Yellow Revolution.?
{(A) Fishery (B) Food grains production @
(C) Milk production . ) Oilseeds production

77 Minimum support price is decided by

e (A) ILCAR (B) State governmemt
<(C) CACP (D) None of these  (2°)
78  The principal folk song of UP is
(A) Dhamar 4(B) Birha
(C) Tappa (D) Qawwali

79 Which one is not finance institute?

(A) ICICI (B) IDBI @
*(C)} BCCI (D) IFCI :
80 One rupee note is signed by? :
H (A) Governor of RBI «(B) Finance secretary
{(C) Finance minister (D) Prime munister

81 Which animat is called ‘Shmp of Desert’?

(A) Horse - (B) Camel
(€) Sheep (D) Elepbant
82  What is the main source of energy on earth?
* {A) Sun (B) Moon
(C) Fire @) Ocean

83 Besides India-America, Indian navy has started ‘"MALABAR’ fighting exercise
2015 with which country?

(A) China (B) Russia /@
(C) Britain e« (D) Japan
84 In which area ‘Pada sahib phatke award® is given?
(A) Cricket (B) Hockey a
(C) Football « () Film
8s How many seats are fixed for Gujarat State in Parliament (L.oksabha)?
NLA) 26 B) 25
) 20 D) 21
EJE-2015_A } i1 { PT.O.
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86 ﬁm%f@aﬁﬁaﬁawﬁiﬁna‘:m#mﬁ!ﬂ%r
(C) 3ifaar = D)
A7 anune fRYe oy fpae Age H o9
(A) R aw (B) AR WAERIR
(C)-. TTITERATHA AAB® (D) YPII¥ T N
88 ARAA I W T OWUAT g3 e 7
{A} 1882 : (B) 1884
(Y 1888 . ®) 1889
89 gTd Wsg @ gy e & —
Ay fS=|ar ; (B) fxﬁm
(C) == O) af¥ies I A
90 g ygigwur f@gw o9 |91 SRw & 7 .
(A 8 T ®) 7 g
(C) 21 feE=R (D) 23 SH
01 W A BT aasmd feaar swm 8§ 7 .
(A)Y 31° TS (B) 986° WIS
(Cy 37° WIS (D) 39° IS
92 SPpTE @1 T el feard @9 &1 HRur 8 °?
(A) wHre FH1 RaH (B) UHRT HT FHIOH
{(C) SHII HT AITRP gIgGdq (D) YHRT HT IGaa
93 R H WEHel| AFgA @ UdE B werg e Frefafaa @ @E
2 7 |
(A) =f8or | IR (B) <f@or-—ygyd | qferor—af¥=s
(C) wlEgo—ufdsm | <@gy (D) =Bvr—aas § STR-gd
94 WO # Uy g o o fEfafaa 3 @ fhus gRT @1 oIt 87
(A} YISTET MERT ®B) faa #HAzreg
€y T wifReme wwew . (D) Rerd do sife sPsar
95 ‘faiew Fr=afaRea 4 @ paw wwfaa & 7
(A)Y DI @ B) dFT
() TEwar 4 (D) fa=gan 4
FEJE-2015_A | 12 | [ PT.O.

www.diplomagovtjobs.in



86 Which one of the following is useful in the treatment of scurvy disease?

(A) Mango (B) Papaya
*(C) Aonla (D) Berry @
87 1In whose leadership ‘Indian National Army’ fought?
(A) Arvind Ghosh (B) Veer Savarkar Q
(C) Jawahar Lal Nehru « (D) Subhash Chandra Bose
88 Indian National Congress was established on:
(A) 1882 (B) 1884 ,@
(C) 1885 (D) 1889
89 The Headquarters of the United Nation is at-
(A) Geneva (B) Paris b
k(€) New York og (D) Washington D.C.
90 When is world Environment Day celebrated?
5 (A) 5 Junegy - , M) 7 July
(C) 21 Decemberol . (D) 23 June

91 What is body temperature of a healtthy man?

(A) 31°C B) 98.6°C @
(C) 37°C (D) 39°C
/92 7/ Reason for sky to appear blue: , : ,
(A) Diffraction of light (B) Scattering of light @ @
(C) Internal reflection of light (D) Refraction of light
93  Which of the following is the general direction of flow of summer monsoon
in India? ’
(A) From south to north (B) From south east to south west @

(C) From south west to south east p) From south west to north east

94 In India, national Iicome is computed by which of the following?
(A) Planning commission (B) Ministry of Finance
¢ (C) Central Statistical Organization(D) Reserve Bank of India

95  ‘Tripitaka’ is associated with which of the following?

(A) Jains _ (B) Buddhists

(C) Sikhs : (D) Hindus
EJE-2015_A ] 13 [ PT.O.
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96
(A) faferm & drads (B) wdRT aitgRT
(C) TBHTPHT BT O g q
97 ‘HEgEPR Rew =@ swr 8§ 7
(A) 10 fewFsx =T B) 9o ’R=x &1
(C) 10 FATFR BT D) 10 3IETER BT
98 s wWagrar fegw wET™AT ST & 7
(A) 15 SO @Y (B) 25 SHIA BT
(C) 15 HRANN BT D) 25 HIGA DY
99 iRk W I @ faw 9 § ¥ fewsr SugEr fBar oo 8 7
A refras B) WfEaaH
(C) wifd=-H (D) JafSas
100 ¥RA A gHGdl ST B HERII FIRT BT rgHIeA fpa wfafay & gry
f5ar T3 o
(A) gdg=a g (B) IIWMPH AsAl
(C) =<9 F (D) ShH&I®. <9
101 “RAG E@REE &1 usEa ¥ CWwNead)” Oss e EeEA gRT Al
ITAT AT
(A) 32 df , @) 42 dtf
(C) 44 df (D) 74 df
102 Wﬁﬁﬁﬂ%ﬁﬁmﬁmmﬁﬁ?‘
(A) FHifdETT B) Aus
(C) vurefag= (D) =
103Wﬁﬁ1=raﬁmmﬁ”qéﬁﬁi@#'wwaﬁﬁ%?.
(A II[IF B =
(C) HLmrenfas (D) #AEgc
104 wRAY dfAwE & w g # gae ™[ &1 Seord fhar 1ar 87
(A) 3IIg=a 320 (B) 3rf=a 322
(C) g 324 (D) 3PS 326
105 & T A TRaweial’ @ dafy it i IfSe fra-i & " 7 7
(A) 30 FFe @) V& =t
(©) IfRam & fag ®) T "HS
EJE-2015_A } 14 [ PT.O.
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96 Who among the following has not won the Noble Prize in Medicine in

201572
(A) William C. Campbell (B) Satoshi Omura ° @
{C) Takaaki Kajitae (D) YouYou Tu&d
97 ‘Human Right Day’ is observed on:
(A) 10 December &g~ (B) 9 December
(C) 10 November (D) 10 October
98 National Voters Day is celebrated on- |
(A) 15 January «B) 251 January @
(C) 15t February (D) 25t February
99  Which of the following in used in the preparation of nuclear bombs?
(A) Zirconium e (B)—Uranium
(C) Molybdenum (D) Vanadium ) @
100 Which committee.recommended for three tier panchayati raj system in India?
. * (A) Balwant .Rai & (B) Ashok Mehta @
(C) Hanumant Rao. {D) GB.K.Rao

101 The term “Socialist” was brought into the Preamble of the Indian Constitution
by which amendment?

(A) 32nd «(B) 42nd /O
(C) 44th ) (D) 74th w
102 Which of the following is not a Indus Valley Civilization Site?

(A) Kalibangan (B) Ropar
(C) Patilputra = (D) Lothal

103 Excess of which of the followmg in the blood causes the “Blue Baby
Syndrome™ disease?

(A) Iron (B)_ Lead —
(C) . Methamoglobin _s» (I»)—Nitrate
164 In which article of Indian Constitution provision of Election commission is
mentioned? =
(A) Article 320 (B) Article 322
RLC) Article 324 (D)  Article 326
105 What could be the maximum time limit of “Zero Hour” in the Lok Sabha?
o< (A) 30 minutes BB) One hour _
(C) Indefinite period (D) Two hours
EJE-2015_A ] 15 [ PT.O.
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106 f~r=ifaRaa i I Pa el § ISR UL 9Rd § 9sSd ST SUEd F987
g7
(A) 35, B) =G
(©) =T . D) T
107 =99 9 ¥ B9 @r o7 8 ?
(A) IIAH B) =B
(C) TS} : D) . IIHP<
108 mﬁwmwa‘:m%?
(A) HERHET ITEN B) TEEEA AES
©) s TER oo (D) Ygay T I
109 I8 W S8l s¥asq 3 dig As-WHed BT e fear ar ?
(A el " (B) UITT
(C) arIrEay (D) \RATF
110 39 & admgad dF 8 7
(A) IR s ' (B) TA. & AsAT
©) = s D) T | PIE AB
111 sﬂﬁﬁﬁ@vwm%@mw%?
(A) <Al TEd B JwWia HFIR
(©) NN FER D) < wHIE died
112 RewmT o Rea & 7
A) G9R=H §mE # (B) 3T uIIr H
©) = H D) ey A&
113 3<Rer d HSlT Ta7 9Rd BT gsail Suus o7 2
(A) #HBR @) Afeoh
(C) amdng D) A
114 IJa—-aE @ficm) 8 enfia s oo ?
(A) 1981 B) 1982
{(C) 1985 ‘ (D) 1989
115 af2 frdl o § g waT RS« BT L R T ach | gd 9 I
sfia o<t &Y O e o g @& RAoda = fazm /i 2
(A) wfdor—af3es . (B) <féyor
(©) uf¥=m @®O) TR
EJE-2015_A ] 16 [ PT.O.
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106

In which of the following crops Uttar Pradesh is not the largest producer in
India?

(A) Potato - B) Rice~ @
(C) Sugarcane - D) Wheat

107 Which of the following is a stem?
(A) Tumip (B) Ginger
2 (C) Carrot &(/D) Sweet potato
108 The writer of ‘Discovery of India’?
(A) Mahatma Gandhi _€B) Jawaher Lal Nehru
(C) Bal Gangadher Tilak (D) Subash Chandra Bose
109 The place where Harshavardhan Organised a Buddhist council was
(A) Kashi - (B) Prayag :
(C) Ayodhya (D) Sarnath &5
110 Who is Lokayukta of UP? .
(A) Virendra Singh XB) N.K.Mehrotra
(C) Jitendra Singh (D) None of these
111 Who has been made deputy Chief Minister of Bihar?
SA)/Tejasvi Yadav (B) Sushil Kumar é‘-’bﬁ
(C) Nitish Kumar . (D) Lalu Prasad Yadav .
112 Chilka lake is situated in o » Q
(A) West Bengal (B) Andhra Pradesh @ 4
«(C) Orissa (D) Tamil Nadu N =
113

The first satellite of India sent into space was
~

(A) Bhaskar ' (B) Rohini
+ (C) Aryabhatta (D) Apple @

114 Export Import (EXIM) Bank of India was set up in the year
(A) 1981 .- (B) 1982 —
(C) 1985 (D) 1989 -
115 The time in a clock is quarter past twelve. If the hour hand points to the east,
which is the direction opposite to the minute haad?
(A) South-West | B) South | /®
(C) West ¢(D) North
EJE-2015_A ] 17 [ PT.O.
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116

117

118

TPh B9 & B U AT ISR I D 2| IS IS, T D faadd B
I, IS el 3R @l B i\ H 21 Nl UsS "he & eS8 aer
WI g8 Aol & IR B B US D I IR DT 8§ ?

(A) o=, FHTAl, PTT AR ABI B) =™, o g MR Aer
(©) &, Frer, e MR "B (D) T, qR, e iR Wew

mwﬁawww%w%m@m HEEHT H 7

(A) Fo9 : YT . ®) AHY - dgc
©) Rmra @ s . O T TR . IR
Sex - A9 H gE W 8 o gferw s=Ragew 7
T (A ER ®B) Had
©) = , ®) o

119

120

121

122

123

Uz fore @& @ 9w wgfya s g sl
4, 9, 16 ? 36

(A) 20 B) 26

() 25 (D) 30

yed forgs & ¥ o) ﬂgﬁm I BT TTA BN
P . Bell ¢ - AR

(A) BR (B) we

©) 9Id | » =

TH Us H A nEd 81 s} IrEr H 9 Hier 8 8 Hiva ¥ Ay fafsyt
aﬁwﬁ%ﬁaq#}mﬁalf%ﬁ|am%aﬁaﬁha%wmm?
(A) 36 B) 4781 :
(C) 6561 ' (D) 7248

Udh AR BT Q7 asfeal 81 3rTar g=ar 7 899X ST 811 B 9T
waEar et ?

(A 1/2 B) 1/3

< 1 D) 1/41

?/19 = 76 /7

.. (A) 34 " C® 19

125

(C) a7 D) 38
=1 SO A 3IFTT e =T BN 7

O | S — ks

(A) 35 (B) 36
© 37 ' B o (D) 38

mwmﬁwwmmgmﬁwm
memﬁ‘?

A A . @) ==& .
(C) uUred v ®O) vHHA sadST
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116 A cube has six faces each of a different color. The red face is opposnte to .
black. The green face is in between red and black The blue face is adjacent (B

to white and brown face is adjacent blue. The fOur colors adjacent to green
are.

(A) red, black, brown and white' B) red, black, brown and blue ['
(C) red, black, blue and white (D) red, brown, blue and white
117 Which of the following pairs has the same relationship as is found between
Australia: Continent?
(A) Engine: Train ~ (3°) . «(B) Vikrant: Ship
(C) River: Coast (D) Yuri Gagarin: Space
118 The relationship between Doctor : Nurse is same as in Police Inspector?
(A) Thief @ «(B) Constable
(C) Pistol D) Jail

119 Find the suitable number in place of mark of interrogation.
4, 9, 16, ?, 36

. . %\L
(a) 20 9 @ 26 5 ) ot
&&c) 25 >y 30 +
120 Suitable word in place of interrogation- <
* Ear : ring : : Nose :.? %

(A) Necklace 3N * B) Stud X
(©)  Anklet (%) (@) Bracelet
121 A tree has nine branches and on each branch there are nine nests. Each nest

having nine birds and each birds needs nine grains to be fed. How many
grains are needed?

(A) 36 G ® 478l
e (C) 6561 - (D) 7248
\}2 A woman has two daughters. One more child being bom. What is the
probability of it being a boyl
°(A) 172 ®) 1/3

©) 1 o) 1/41 @

123 What is the number in place of the interrogation wmarks?

- S
2/19= 76/? D = e
(A) 34 LS @) 19 @ ,6* ;
©) 47 » (D) 38 -’b
124 Which will be the next number in the following series? A 3/;
3;’ 8 > 1-5 2 24 - 3
a(A) 35 Ao (B) 36 2 grpe L/
(C) 37 O (D) 38 vJ 5 ! -
125 If a Journalist is related with news then a philatelist is related thh
(A) Trains {(B) Medicines
(C) Postal stamps#,_— (D) Animal husbandry /@
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126 H=fofRga & @ 9 w1 o= 3remggs, afzer 3w 3f @ 9 999
TE O HT ST & 7

127 JfE 98 HY ‘SA BET AT B T B CASH AT HSH B €SS
MEIT O UPH BATS 8IG] Pl Ssdal & 7
(A) IThTEr ®B) =g« ©) =T D) T
128 f=ifda ot & aprer wWeR o9 FHfg ?
ST, U, UH, T, TH, T, Sl

Ay = ®B) T ©) TH ™ =&

¢ 129 3IdT B ffefaa w9 d o 8 6 8, o9 gdadt 9 &7 3w uxadt
W 9 BN O?
6 6 3 6 99 96 66 969 669 96 6 9 9 6 6 6
(A) 3 3B) 1 <€) 4 ») 2

130 afe PIg HE&T 10% 9T a1 | 242 & O 8 o go wwar 8 7
(A) 230 3B) 220 (C) 232 D) 252

131 WWASngTovﬁagaﬁﬁwm&W%—ﬁﬁﬁﬁw(W)“@taé‘r
&g & S g W 8 ?

- (A) N B) T C) O o G
132 =g & 9 99 s =9 8 7
A) =R B) RINE
©) ' D) 3IPER
133 fafeiRga § 9 &89 W s 39 9 &= 8 w9y ?
- (A) T @) dar
(C) == (D) = Tk
134 <. 4000@5%@31%3?%26&‘{1?!%%%%1% 3
(A) S 410 B) T 420 ,/\J/T ’
C 5 421 D) S 427 > (/
135 TR 3T aren @9 BeT TR St 7 9§ R & wd 2 ¢ £ 1]
(A) 1101 (B) 1108
(C) 1001 ) 1007
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126 Which of the foliowing diagrams best deplcts the rclatlonshrp between teacher,

fernale and miother? ; (
~ (©9) @ ‘ ®

o (O C@D D)

127 If rain is called “Water’, water is called ‘Road’, Road is called ‘Cloud’,
Cloud is called *Sky’, Sky is called ‘Sea’ and ’Sea’ is called ‘Path’, then
where docs an ‘aeroplane” fly?

o (A) Sky A (B) Sea C@ lg\/
(Y PFath (D) Cloud
Find tae next letter of the following series
TOE ML A, M. 3T
(A) ) AB) A
(C) S - ®») T

122 How inanv 6s are followed by as well as preceded by 9s in the following
set ~t Ggures?

GEDCIV0EE626966996699666 @
(A) 3 = @) 1 %

) 4 WD) 2 Sy

\?&Y A number, if increased by 10% becomes 242, The original number is

(A 230 - »(B) 220
(C) 232 (D) 252 @

i31 Which letter n_. the word WA: \HINGTON is_at the same number in the word
(countmu from the Leginning) as it is in the alphabet?

(A N @) T @
Cc; © ®»® G |

132 Which one of the following'is the odd one?

(A DBuabar «(B) Shershah ' g&)@

{(C) Humayun ) (D) Akbar s ‘
133 Find out whichk one of the following is different from the rest? ¥

(A) Owl . o KSB) Parrot & .

(C) Eagle (D) Hawk L\/S,:
f’é/ What will be the compound interest on 4000 for 2 years at the rate of 5% &»
7 per annum? @

g =AY 410 3B) 420 '

125 The smeallor  Jdigit nimber exactly divisible by 7 is

Ay 1101 (B) 1108 @
(T} 1O (D) 1007
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136 Ui =sit &1 ma 10 B @F W wWEw ol i aife siea 12

B o7
(A) 12 @) 18
©) 22 D) 24
137 5 o9 & U BT &FhA 216 W2 B | IHBT AEAT BEIT—
(A) 100 2 B) 216 T3
(C) 480 #M° D) 512 7
138 ALLAHABAD : DABAHAILILA : : VARANASI : ?
(A) ISARANVA (B) ISAVARAN
(C) ISANRAAV (D) ISANARAV
139 9= & &1 fQww aar & ?
(A) T - ' B) G -
(C) EBIg &HRAT- D) =T

140 9= gar
s, 7, 10, 15, 21, 20, 28, X, Yy
H x Ud y B W& UY HAIT KT EH=A-T B8Rl ?
(A) 20, 25 , (B) 35, 40
(C) 25, 35 (D) 24, 30

141 afy INDIA @ =9 9 T AT H 95491 foram og 1 DELHI &1 59
gpR & Ss&Em ?

(A) 45389 (B) 45489
(C) 45498 (D) 45398
142 (4, 3, 2) (16, 9, 4) (256, 81, 16) (65536, 2, ?)
(A) 1486, 97 , B) 190, 20
(C) 6651, 286 (D) 6561, 256
143 3R 246=8, 624=0 3NN 327=6 dI 423 = 7
(A) 9 ®B) 8
<> 1 D) 10
144 BEH, DGJ, NQT, ?
A) JIMP (B) RMO
(C) TKL (D) GHD

145

Fax few@ wa fam # Prel @ wol wwear Readt @ 7

(A) 28 ' B) 24
(C) =20 D) 16
EJE-2015 A } 22 [ PT.O.

www.diplomagovtjobs.in



'\}36 If the average of five numbers is 10. The number which should be added to %
; make the average 12, is

(A) 12 @) 18 @ | -
R~ (C€) 22 D) 24 o S
137 The surface area of a cube is 216 m2. Its volume will be Qe{ o /\6 4o
(A) 100 m3 e (B) 216 m3 5" o
(C) 480 m? D) 512 m? /@ g WV
138 ALLAHABAD : DABAHALLA : : VARANASI : ? P \
(A) ISARANVA (B) ISAVARAN : c6—// “~
(C) ISANRAAV « (D) ISANARAV. S A
139 Select the odd one out in the following
(A) Frying (B) Drying >
(C) Sweeping .(») Crying I 4
140 In series 24 : %A —% ’
5, 7, 10, 14, 15, 21, 20, 28, X, y 3
What do x and y stand for? : <y
(A) 20, 25 (B) 35, 40 9
e (C) 25.35 . (D) 24, 30 Q S
1 If INDIA is written as 95491, then DELHI will be written as
o (A) 45389 B) 45489 %
(C) 45498 . (D) 45398 Q\ 3 @_O X \)
24,3, 2) (16, 9, 4) (256, 81, 16) (65536,2, ) ‘33* &
(A) 1486, 97 @) 190, 20 Y
(C) 6651, 286 (D) 6561, 256
143 If 246=8, 624=0 and 327=6 then what will be 423=7
A ° B) 8 \’
s (C) 1 3 D) 10 630’(
a2 = (¢ :
@ BEH, DGJ, NQT, ? . 3 4 S &%
A(A) TMP ® rmo @ ABC D £ A4
(C) TKL (D) GHD
__ : w8 €14 gty
N - : Hop O RSTV
145 | ' | o
A - NN w7
How many triangles are there in picture? o«
s (A) 28 (B) 24 3
(C) 20 D) 16 -
EJE-2015_A ] 23 [ P.T.O.

www.diplomagovtjobs.in



146 € @rs d§ MISCHIEF @ NKVGMOLN f¥@r sian 8, df RELIEVED
wr frE o F faar s 7 ‘

(A) SFMIFWEE @) SGOMIVED
(C) SEOLVLD ) SGOMIBLL

147 B @ rpfy srw A F A & 7

A) ' h @)

© | ®)

148 7saﬁhzﬁwamrﬁm§a$rww@23€ﬁ%lwaﬁ=ﬁ%@t
Refy aor vy ?

(A) 48 B) a9
©) s0 _ ) 51

149 IS = BT A ?
(A) DkUZ B) LPuB
{C) FoMyY D) UXeW

. S0 Stug w=mT wRO?
. 7. 18, 60, 73, 117, ?

N (© 172 D) 183

151 98 uwss g ?
OTE, PUF, QVG RWH, ?

(A) SYJ @) TXI
(C) SKJ D) sSx1
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146 In any code MISCHIEF is written as NKVGMOLN then what will be the
RELIEVED in same hint. '

(A) SFMJFWEE (B) SGOMIVED .
(C) SEOLVLD . «(D) SGOMIBLL

147 Which picture is different from other these?

“x
\ %0(
(&)
‘v’o\&,‘
OCr
) «(D) S

ys Anuj ranks 23™ from the top in a class of 73 children. What is his rank from
the bottom?

(A) 48 B) 49 %, 25 *®
©) 50 : «(D) 51 k! S
149 Choose the odd one out. N /3{
(&) DkUZ - (B) LPuB N Y ’
(C) FoMY -Rg)) UXeW @ -
Wi
@30 Choose the correct number? v “>
7. 18, 60, 73, 117, ? o)
] s » > E) b
(A) 150 ®) 161 4
©) 172 D) 183 2 \ A
| = ! >
151 Choose the correct word? ' Tl
OTE, PUF, QVG, RWH, ? 4
W\
(A) SYI ®) TXI Ly
(C) SKIJ o(D) SXI 27
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152 Tp S § 4 sorox 30 e 8T @ 2 afs a0 o @ SR H B ar
ﬁaaa%qézﬁﬁwfawrms’nﬁ?

@A) ud a @) ufFEs
(C) STw—gd D) SaR—uf¥=m

153 M9 I U &R FH AN SURT HA g¢ HEl & WA #F T goh
B A R A S0 AT HT " § @ W= 8 7

(A) w8 @) Hf
-'~7(C) gy - O)

154 ST BT YRT B ?

ONZENWANZENANZA

(A) 30
(C) 38 (D) 40

155 FYeR A fFa geprR &1 fsasw & 7

(A) FYS | . ®) InSeye
(C) WHFETIR D) RS

15¢ fa<= &x a%f%rqamﬁﬁaeaﬁﬁ?
(A) ®wIga B) <oH
O T ) =<

i57 . oE aes fredt SamERer & ?

(A) Rfen Rrew &T B) vk fSama @r
(C) vufteds™ AucdaR &1 D) s-Ygc fEamHa o1
(A) dS9IEe I ®) @
© v;h_mq ) | D) 3ifsorae
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152 A WATCH READS 4:30. If the hour hand points in North then minute hand
: . : y >
will face which direction?

(A) East (B) West LA %‘ ;.x
-(C) |

&
North- East (D) North- West : @ =

said, “Her mother is my

153 Pointing towards a woman in the picture, mohan

wife”. How is the woman related to mohan?
(A) Sister

(B) Mother rqw‘*)e@
)
(C) Wife «(D) Daughter n /

N
e :

154 Complete series by the correct answer.

4 8
2 12 4 24
. (A) 39 »(B) 36
(C) 38 | D) 40

155 Computer Mouse is this kind of Device? ¥ il

" (A) Input (B) Output ' B

(C) Software (D) Storage

156 What menu is selected to print?

" a(A) File (B) Tools @x’
(C) Special (D) Edit

;7/ “M.S Word is an Example of

(A) An operating system (B) A processing deviée @
«C) Application software (D) An Input device

158~ The main purpose of software is to convert data into
(A) Website «(B) Information @
(C) Program (D) Object
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159 &SI AT FORTRAN Q9 &3 3 suarfy & °
‘(A TaE™ e ser dEy (B) iR
~T(C) fasm : o D) aiivivg
160 FH™YcY AT COBOL {Hass fav suuwrh 8 7
(A) IEENdH BT B) udfesw s T8
(C) asnfaa o ' (D) TTH H i T
'161 smﬁe HT WSS UEIBia 8 2
(A) TCP/IP ' T B) IAVA/T
(C) HTML o (DY TR
162 HUESR B 7
(A) T $geI YT
B) HEFEIAX BT AT
(©) wEAIdE I #MF Fasr A sz O ormw
O) Sudaa |
163 difed Joferas ToERIT & fore gamr fpar sen & 7
(A) BASIC (B) FORTRAN
(C) -COBOL (D) PASCAL
164 FHYSX @ W F=IGR B oig e § = oswar & 7
(A) BIOS B) =
(C) Y= ) (D) I
165 ¥Rk & 'H—ae H fHaN aoHemEst @1 95T (KeEys voar 22
(A) 2a (B) 25
(C) 25 . D) 27
166 HFYSI B 9N 4 7 (BUG) &7 5 7
(A) HYSR TGIIEH BY wwRgT Ffe
(C) fssirg= s=7FT D) HYeSR Sier
167 wRAd # fAffa yom guv wrgex &Y gur G feur aay ?
(A) SITHTST By v
(C) 3G+ (D) THgeY
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159 Computer language FORTRAN is appropriate for

(A) Business ) (B) Graphic

e (C) Science %ﬁ% (D) Commercial

o %
& Pa

160 Computer language COBOL is appropriate for

¥ (A) Commercial purpose »=(B) Graphic purpose
(C) Scientific purpose /£ (D) None of these

161 Standard protocol of Internet is: < __

==  A¢A) TCP/IP B) JAVA
(C) HIML&_ (D) FLASH

162 Compiler is a :

(A) A computer programme
(B) Part of ‘___S__c_)‘ﬂ:ware ' @
M) Programme for converting from high level to machine level

«(D) Above all

163 Which one is used for complex scientific calculation?

(A) BASIC (B) FORTRAN
(C) COBOL (D) PASCAL

164 Checking of different hardware parts of computer is done by? p
(A) BIOS- -7 77 7 (B) Hard disk
(C) Processor (D) CD.

165 How many Keys are there on keyboard for alphabet? }
(A) 24 B) 25 "
o(C) 26 o) 27
166 What is ‘bug’ in computers’ language? _ -
“(A) Computer VIRUS «(B) Computer error
%(C) Design making D) Computer data
167 What name has been given to the first super computer made in India?
(A) Akash +(B) Param @
(C) Arun (D) Siddharth
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168 fr=ifra A | frw dYE®d gRT ace dlgs 99 A Ug" Wear 7 7
A) TTEHAG (B) THEHTHEAG
(C) TH.TA.IATS. Y. O) ST #A H Py TE

169 waATHATSA. B RAwgel w9 & ? _
(A) TEES SRS AU ATdH  (B) BISWSHRT HIEIT 7ddd
(C) TEOR IS HIHIAY A7Q (D) Sugaa A § P T4

17025%?61'&??%—
(A) TET FRYex U W wWd & afafafdt e @
(B)Qwamvhwjm‘ra‘swaﬁwﬁaﬁ
(C) Suya a0 : "
© wogm ¥ w P w0

171 ‘g oo’ WweEiEa g—
(A) 9TIag HREUT 9§ @) = gREAeT |
(©) gafesmm uREe=m a (D) U89 UST A

172 = 3 Q4 P9 @) 3 B @Ed HH Yawd wWEHg B ?
(A T W B) Hfew sdd a9
(C) HAfes R = D) F=H "

173 “"HigFIEUe a3 IQEIUT B—
(A) UF IdfeE Red &1 (B) U©& 3gAYc fSasH &1
(C) s wtan fEams & (D) UGi®eE dAucday &l

174 IS FHERY &7 IWeR R BRar & ?

(A) TSH az=a = @) SR W
© ¥ || w® O A N

175 fA=fafga & @ 39 @ Isnfae svgey @ 8 7

(A) BASIC (B) COBOL
(C) FORTRAN ' @) 99 A FE TS
EJE-2015_A ] 30 [ PT.O.

www.diplomagovtjobs.in



168 Which of the following protocol may be used: for acoessmg Worlkd Wide

< “"Web? . e : 5% B, ,rq
(A) HTTP A B) SMTP | é 2%
(C) SLI1IP (D) None of the above

169 H.T ML stands for: 7 .
(A) Hybnd Text Markup Languageﬂ 7 j«@
(B) Hypertext Markup Language L ' Q

«© I-liglnr'l‘extM-hxpLanguage
(D) None of these

170 A computer Virus is <.z,

(A) A computer program that can rephc;te 1tseif/ @
(B) A virus that affects health of human bemg/o

(C) Both of the above

(D) None of the above

171 ‘Chipko Mpvérpent’ 1s ;;Isted to- - ‘
(A) Plant Preservatio/ (B) Project Tiger < (’w
. (C) Project Crocodile< (D) Plant Breedmg

172 Which of the following memories has the shortest accéss time?

(A) Cache Memory (B) Magnetic Bubble Memory @ a
{C) Magnetic Core Memory (D) Random Aceess Memory
lﬁ’w Word” is an example of '
// (A) an operation system (B) an input device . @
o (C) a processing device (D) application software

174 Size of virtual memory depends on .

(A) Address line (B) Data Figad @
(C) Disc Space (D) All the Above

175 Which of the following is a scientific computer language?

(A) BASIC @B) COBOL
{C) FORTRAN (D) None of these
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